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N3+ Taafe @™ fa@ v foF w8 (@@ TET 5f6) (Choose the correct option and give ¢ mark (any 5)). 5x2 =10

1. 50 fHffeBTa 53T 4.9 ST H,S0, a3% 2 STH NaOH 5Stge FaT 74| o7 a5fs a3 F1ffe s -
4.9 g H,SO, and 2 g NaOH are dissolved in 50 ml water. Nature and normality of the mixture respectively are -

(a) INfFF 932 0.5 (N) (acidic and 0.5 (N)) (b) FTHT 932 0.5 (N) (alkaline and 0.5 (N)) (c) 3nf&FF 43 1.0 (N) (acidic and 1.0 (N))
(d) T 432 1.0 (N) (alkaline and 1.0 (N))

2. 1.6129 (AT IBTHBF TG 5T Toiw 1.02 rav/fafafaeral g3afes amenfaf -

Density of 1.6129 molal acetic acid solution is 1.02 g/ml. Molarity of the solution is -
(@) 1.3(M) (b) 1.5 (M) (c) 1.7 (M) (d) 1.9 (M)

3. 25 SBT3 AT TIIT GINE TACIRIITH ATINIBEG GIETT NTRET GIRG T 0@ 33.2 fAfaferbra 0.995(N/10)
ATINIHIEE6 AT TS TX| (HITT GIEFT FHTE AT A3: JAfS 613 50T AWI@F ATTAT (I AFF) [T Fe
= 56]-

33.2 ml 0.995(N/10) potassium permanganate solution is required for titration of 25 ml ferrous salt solution. Normality of
the ferrous salt solution and the amount of iron in gram per litre solution respectively are - [Given: Fe = 56]-

(a) 0.1231 a3/and 6.89 (b) 0.1123 aF3/and 6.29 (c) 0.1213 a3%/and 6.79 (d) 0.1321 aFs/and 7.40

4. Cu*ICu a3 Zn*/zn 2% SfEsTTAYoF fFonad 63 T=Fw +0.33 V a3 -0.77 V. 2% SfGsq1ayfe 7147 afde
@FTET I e[ N Fo ?

The standard reduction potential of Cu*/Cu and Zn*/Zn are +0.33 V and —0.77 V respectively. Find the E° of the cell
constructed using those two electrodes.

(a) -1.1V (b) +0.66 V (c) +1.1V (d) -1.54 V

5. SRGSATAYG(4e2 ATIF) FIAT 513 (FNET SFETF I foHe(T F@T T4 Zn?* 27 SNGF Cu>* 97 53T |
Find the e.m.f of the cell(of Q-4) when the concentration of Zn** is ten times of Cu®".

(a) -1.07 V (b) +1.13 V (c) +1.07 V (d) -1.13V

6. SfE3ATAYG(4a: FTIF) TTAT TS (FTET SfEHTF I fHeT F@T Ta Cu** 97 BT Zn’* 9T 13T |

Find the e.m.f of the cell(of Q-4) when the concentration of Cu?* is ten times of Zn?".

(a) ~1.07 V (b) +1.13 V (c) +1.07 VV (d) -1.13V



